10,000lb Capacity Aluminum Roller Sheave

R2.00 —

il

7.125

J UL cc (865)670-3713

TITLE:
12" Aluminum Roller Sheave

NAME D. Jordan DATE 22

SIZE DWG. NO. REV
A AS12 Aluminum Sheave

SCALE: 1:16 WEIGHT: SHEET 1 OF 2
1



ITEM NO.| PART NUMBER DESCRIPTION QTY.
1 SP-288 12 Alumléngjlrenr Sheave 1
2 7815K58 2
3 |as401 Aluminum Sheave 1224 | 2
4 HS-402-1 Weldment Top Bar 1
5 SP-172 Shank Hook 1
6 HW-200 1" Flat Washer 2
7 HW-203 1" Castle Nut 1
8 HW-222 1/8" cotter pin 1
9 HW-263 1 inch x 7 hitch pin 1
10 |21259A143 1" x 5-1/2"L Shoulder Bolt 1
11 HW-201 3/4" 10T Nylock Nut 1
12 |AS-101M Mochlneﬂr%ps)ocer for 1
13 |[HW-190 3/4" SAE Washer

DETAIL A
SCALET: 4

5

DETAIL B
SCALE1T:4

y

Fruk.co

(865)670-3713
TITLE:
12" Aluminum Roller Sheave

NAME D. Jordan DATE 22

SIZE DWG. NO. REV
A AS12 Aluminum Sheave

SHEET 2 OF 2
1

SCALE: 1:16 WEIGHT:



AS18 Aluminum Sheave 12,000lb Rated

RS

N FY/ 7] i (865)670-3713

TITLE:
18" Aluminum Roller Sheave

NAME D. Jordan DATE 22
SIZE DWG. NO. REV
SCALE: 1:12 WEIGHT: SHEET 1 OF 2

1



ITEM NO.| PART NUMBER DESCRIPTION QTY.
1 SP-289 18" Aluminum Sheave Roller 1
2 7815K58 1" ID Flanged Bearing 2
Short Side arm for

3 AS-401 Aluminum Sheave 12-24 2

4 HS-402-1 Weldment Top Bar 1

5 SP-172 Shank Hook 1

6 HW-200 1" Flat Washer 2

7 HW-203 1" Castle Nut 1

8 HW-222 1/8" cotter pin 1

9 HW-263 1 inch x 7 hitch pin 1

10 HW-365 1"x 7" long Shoulder Bolt 1

11 HW-190 3/4" SAE Washer 1

12 HW-201 3/4" 10T Nylock Nut 1

13 AS-10TM Machined Spacer for Arms 1

-’_’_‘_"_, o (865)670-3713
TITLE:
a 18" Aluminum Roller Sheave
NAME D. Jordan DATE 22
SgiTLAEIL] A4 SIZE DWG. NO. REV
: DETAIL B
SCALE1:6 A AS ] 8
SCALE: 1:12 WEIGHT: SHEET 2 OF 2

5 4 3 2 1



AS24 24" Aluminum Roller Sheave 12,000lb Capacity

R2.00
R.89

29.23

©24.00

J UL cc (865)670-3713

TITLE:

24" Aluminum Roller Sheave

NAME D. Jordan DATE 22
SIZE DWG. NO. REV
A AS24 Aluminum Sheave Assembly

SCALE: 1:16 WEIGHT: SHEET 1 OF 2
5 4 3 2 1



ITEM NO.| PART NUMBER DESCRIPTION
] SP-290 24in. Roller | 24" Aluminum Sheave Roller
2 7815K58 1" ID Flanged Bearing
3 AS-40] Short S|<§Iﬁeo(£(/nef%élfmmum
4 HS-402-1 Weldment Top Bar
5 SP-172 Shank Hook
6 HW-200 1" Flat Washer
7 HW-203 1" Castle Nut
8 HW-222 1/8" cotter pin
9 HW-263 1 inch x 7 hitch pin
10 HW-365 1"x 7" long Shoulder Bolt
11 HW-190 3/4" SAE Washer
12 HW-201 3/4" 10T Nylock Nut
13 AS-10TM Machined Spacer for Arms

DETAIL B
SCALE1T:4

DETAIL A
SCALE1:4

N FY/ 7] i (865)670-3713
TITLE:

24" Aluminum Roller Sheave

NAME D. Jordan DATE 22

SIZE DWG. NO.
A AS24 Aluminum Sheave Assembly

SCALE: 1:16 WEIGHT: SHEET 2 OF 2
1



AS36 Aluminum Roller Sheave 12,000lb Capacity

R2.00
R.89

8.125

J UL cc (865)670-3713

TITLE:
36" Aluminum Roller Sheave
NAME D. Jordan DATE 22

SIZE DWG. NO.
A AS36 Aluminum Sheave Assembly

SCALE: 1:24 WEIGHT: SHEET 1 OF 2
1



ITEM NO.| PART NUMBER DESCRIPTION QTY.
1 SP-291 36" Aluminum Sheave Roller 1
2 7815K58 1" ID Flanged Bearing 2
3 sz Long ide amforiorge |
4 HS-402-1 Weldment Top Bar 1
5 SP-172 Shank Hook 1
6 HW-200 1" Flat Washer 2
7 HW-203 1" Castle Nut 1
8 HW-222 1/8" cotter pin 1
9 HW-263 1 inch x 7 hitch pin 1
10 HW-365 1" x 7" long Shoulder Bolt 1
11 HW-190 3/4" SAE Washer 1
12 HW-201 3/4" 10T Nylock Nut 1
13 AS-10TM Machined Spacer for Arms 1

DETAIL A
SCALET1:6

DETAIL B
SCALET:6

N FY/ 7] i (865)670-3713

TITLE:
36" Aluminum Roller Sheave

NAME D. Jordan DATE 22

SIZE DWG. NO.
A AS36 Aluminum Sheave Assembly

SCALE: 1:24 WEIGHT: SHEET 2 OF 2
1



ITEM NO. PART NUMBER DESCRIPTION QTY.
1 HS-402-1 Weldment Top Bar 1
2 SP-172 Shank Hook ]
3 HW-200 1" Flat Washer 2
4 HW-285 1" Castle Nut 1
5 HW-222 1/8" cotter pin 1
6 HW-263 1 inch x 7 hitch pin 1
Long Si rm for lar
7 s O e arn o arge z

®1.01 35.

2.50

23

N FY/ 7] ‘rh (865)670-3713

TITLE:
Sheave Accessory Kif for AS36 (Long Arms)

NAME = D. Jordan DATE 22
SIZE DWG. NO. REV
A ASA36

SCALE: 1:8 WEIGHT: SHEET 1 OF 1

1



All IToolco Aluminum Sheave Rollers are able to be mounted with an additional hook mount to accomodate multiple
mounting positions and situations. Additional Hook Accessory Packs correspond with the size of roller being used.

ASA12-24: Short Arm Accessory Pack for use with 12" through 24" Rollers IToolco Part #'s AS12, AS18, AS24.
Is not compatible with AS36.

ASA36: Long Arm Accessory Pack for use with 36" Roller IToolco Part # AS36, but will work with
12" through 24" if additional arm length is needed for an application.

N FY/ 7] ‘rh (865)670-3713
TITLE:

Reference Sheet Showing
24" Aluminum Roller Sheave

NAME D. Jordan DATE 22

SIZE DWG. NO.

REV
A

Aluminum Sheave Accessory Pack Reference and Installation  SCALE: 1:16 WEIGHT: SHEET 1 OF 2
5 4 3 2 1



Detail View of AS-101M

When using additional Hook Arms
AS-101M Spacer Must be oriented to
extend the shoulder length of the bolt
and hold both sets of arms in place.

DETAIL A
SCALET: 4

When only 1 set of Hook Arms
is used orient AS-101M Spacer
to sit over the protruding shoulder
length of the bolt

J UL cc (865)670-3713

TITLE:

NAME D. Jordan DATE 22

SIZE DWG. NO. REV

DETAIL B A
SCALE1:2 SCALE: 1:16 WEIGHT: SHEET 2 OF 2

5 4 3 2 1



ITEM NO.| PART NUMBER DESCRIPTION QTY.
1 HS-402-1 Weldment Top Bar 1
2 SP-172 Shank Hook 1
3 HW-200 1" Flat Washer 2
4 HW-285 1" Castle Nut 1
5 HW-222 1/8" cotter pin 1
6 HW-263 1 inch x 7 hitch pin 1
7 AS-401 Short Side arm for Aluminum )

Sheave 12-24

—=d 505 F=— - 675
[
Arms Face Inward for use with 8.125
AS12 12" roller has thinner
width than 18",24",and 36" rollers

Arms Face outwards for use with
AS18 and AS24

N FY/ 7] i (865)670-3713

TITLE:
Sheave Accessory Kit 12"-24" (short Arms)

NAME = D. Jordan DATE 22
SIZE DWG. NO. REV
A ASA12-24
SCALE: 1:8 WEIGHT: SHEET 1 OF 1

1



	AS12.pdf
	AS18.pdf
	AS24.pdf
	AS36.pdf
	ASA36.pdf
	Aluminum Sheave Accessory Pack Reference and Installation.pdf
	ASA12-24.pdf

